\ L- A - P Hardware Provided:
R S ’ m 1 ea. Hex Bolt Zinc 3/8 x 5

Fillable Plastic Base Sign Stand 2ea. ﬁiﬂiﬂ W
INSTRUCTIONS 1 ea. Vinyl Cap

2 ea. Hex Bolt Zinc 3/8 x 2-1/2

1. Use one 3/8 x 5” hex bolt, and one locknut to secure plastic post to Roll-A-Post base. Refer to chart to

determine which hole on post to use.

2. Use two 3/8 x 2-1/2 hex bolts, two washers, and two locknuts to attach sign.
3. Add Vinyl Cap to the top of the Power Post to help prevent water from entering.

Hole To Use To Attach Post To Base

Roll-A-Post 18

8.63" from post bottom

Roll-A-Post 24

11.5" from post bottom

Fill Base With Dry Sand:
Roll-A-Post 18: Fill base with 60-80 Ibs. dry sand.

Roll-A-Post 24: Fill base with 150 -180 Ibs. of dry sand.

Plasticade.com

. /
Vinyl Cap

Part #8338 Rev. 6



